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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I I I

3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec |

2500 HHHHDHHH 00000 IR0 IR MO0 IR0 00 E0EI IO HICEE AR HPR 000 RO RIS IR IO HEHISIRIIEN

M I OO0 OOOOOO0O0
2000 :
1
1500 |
xooooo?x !
1
1000 I
1
500 Warning: col [ EcFgro’, 'EcPltng’'] is missing

0 25 50 75 100 125 150 175
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Plot Sensor and FgRec Data
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9

BrE) | GEBRTK (FD) | ERE (EAH/K) (KR IR

07:10 190 70.0 | 1Ri%e07:10 F3 (REHEREE)
07:50 190 70.0 5| 1Ri%e07:50 F1 (REERE)
08:30 190 70.0 5| 1Ri%e08:30 F31 (KRR
09:10 190 70.0 5| {Ri&@09:10 Fx) (REHERSE)
09:50 190 70.0 5| 1Ri%e09:50 F1 (REHERSE)
10:35 190 70.0 | 1Ri%e10:35 F (REAHERSR)
11:20 190 70.0 | BRi&e11:20 Fzh (RAEREE)
12:00 190 70.0 5| 1Ri%e12:00 F1 (REEREE)
12:40 190 70.0 5| 1Ri%e12:40 F31 GREAMEREE)
13:20 190 70.0 5| 1Ri%e13:20 F5 (REAHEREEE)
14:00 190 70.0 5| 1Ri%e14:00 F (REEREE)
14:40 190 70.0 5| 1Ri%e14:40 F1 CGREAMEREE)
15:25 190 70.0 5| {Ri%e15:25 Fa) (KEAERESE)
16:40 190 70.0 5| {Ri%016:40 Fz) (REERESE)
=1t 2660.0 (14)%) 980.0 #233KEC: 2080.0, PH: 6.0

MEAEHER B STAAEART (124.0 : 87.0), AR TF—@AZ XA
EORGEBRRTIC (190) S5THA (152. 0) AN FF, FIREE T % WEERS X XER
ZRIASKPRIERE87. 0 ml.

large discrepency for begining water status (183:33.0), set to 183 ml
REX 13 Bl RECEHE TR K.

REXEBIEC (2620.0) 5iZFEEC (2000.0) REKR K, HHRE

P[EIRECE (2620. 0 vs 3592.0) fRs

REREBFHHEREC/PHER K, AIRERZINIRELRTK
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P3-9_0, Day=26 (2025-04-28)
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P3-9

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

01:15 190 70.0 |2 =| (Ri&e01:15 Fzi (GRAKESE)
02:10 190 70.0 E BRi&e02:10 Fzh CGRAEEE)
03:05 190 70.0 E  1BRi&@03:05 Fz1 (RAERERE)
07:35 190 70.0 F  BRi1%e07:35 Fa1 (RAERESE)
08:55 190 70.0 =] {Ri%@08:55 F (KRR
09:50 190 70.0 | 1Ri&e09:50 Fz (KAL)
10:40 190 70.0 5| {RiR@10:40 F3) CREERESE)
11:20 190 70.0 =l RRiB011:20 Fzh (REAKEEE)
12:00 190 70.0 E BRige12:00 Fz1 CGRAERESE)
12:35 190 70.0 = BRiB@12:35 Fx (GREAERESE)
13:15 190 70.0 5| Rike13:15 Fz) (REAERS)
13:55 190 70.0 E BRi&e13:55 Fz (GRAERERE)
14:30 190 70.0 El BRi&e14:30 Fzh CGRAEREE)
15:10 190 70.0 =l RRiB@15:10 Fz (REAKEEE)
15:55 190 70.0 E 1BRi&e15:55 Fz (GRAEREE)
2it] 2850.0 (157%) 1050. 0 3 WHKEC: 2080.0, PH: 6.0

FEREHER 2 STEELRTF (124.0

BRI\ SEFRIERE8T7. 0 ml.

87.0), AIREAT—@E XAE5)
EORGEBIRTC (190) 5748 (152. 0) A FF, AIREH T % @R #EiRS %2 XiER

unusual large postFgEt from yesterday (226), set to 210.0 ml.
REXEEBIEC (2610.0) SiZFEEC (2000.0) REKR KA, FHRE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=25 (2025-04-27)
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744 22 [
40 1520 2
62 L
201 - 250
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